
SAP ABAP table VIBDOBJRELPART {Object Relationship A/U Object <-> A/U Object: Percent}

VIBDOBJRELPART

MANDT [CLNT (3)]

INTRENOSRC [CHAR (13)]

INTRENOTRG [CHAR (13)]

VALIDTO [DATS (8)]

MEAS [CHAR (4)]

MEASUNIT [UNIT (3)]

T000

MANDT [CLNT (3)]
 VIBDOBJRELPART-MANDT = T000-MANDT 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VIBDOBJRELPART-MEASUNIT = T006-MSEHI 
0..N

{0,1}

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 VIBDOBJRELPART-MEAS = TIVBDMEAS-MEAS 

0..N

1

VIBDOBJREL

MANDT [CLNT (3)]

INTRENOSRC [CHAR (13)]

INTRENOTRG [CHAR (13)]

VALIDTO [DATS (8)]

 VIBDOBJRELPART-VALIDTO = VIBDOBJREL-INTRENOTRG 

0..N

1


